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King Fahd University of Petroleum and Minerals
Dammam Community College

MATH 012 - College Algebra II
} ML’ o S C]ass Test Two
O Written Exam, Term 092

CL/ May 3, 2010
J -

Md/ﬁéyue your name, ID number and section number.

Name: ID # Sec #

This exam consists of Ten questions.

Question Marks
Total /45. 1 /5
2 /4
Time allowed: One hour and fifteen minutes. 3 /6
4 /6
You must show all necessary steps of your 5 /5
solution. 6 /4
7 /4
Calculators are not allowed. 8 /3
9 /4
This test worth 7.5% of the total marks 10 /4
allocated to this course. Total marks = /45
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1. Find the coordinates of the relative minimum and relative maximum of the graph of
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2. Write the following expression in terms of sine and cosine functions only
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3. Verify that the following trigonometric equation is an identity [6 marks]
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4. Find the exact value of tan 165° = 79,. ( /fo.-/s 7 [6 marks]
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5. Find the exact value of the following:
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[S marks]

6. Given cos@ = g and sin @ > 0, then find the value of cos 260. [4 marks]
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7. Given tan@ = _!2_3 with 90° < 0 < 180°, then find the value of cotg. [4 marks]
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8. Given cos 260 = % and 0 terminates in quadrant II, Find cos 0 =

[3 marks]
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9. Find the exact value of this expression:

[4 marks]
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10. Find the exact value of the following:
-
a) sin"![sin (Z5)] = i [ s (47- I ] [2 marks]
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b) cos™1! [cos (57;5)] o sl [Cc—; (em - 2;1;)] [2 marks]
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